41 l* Bearings &

Self Locking Units (Type-02) e,
(Self centering) X '3 7/ Phone 07 4636 0522
5o Pa}\s;i;]g Passing nggﬁgg DIN912-12.9 Locking screw 1
Pressure | 107U Axis | Hub '—T‘(’J‘;E'Sg — >
P | Pt ; %_ i 7
od |ob | Lt |2 || L|o2for| & | M| v | W |ouwny| se | > = 8
mm? | mm? ; 3
8 |15 |12 | 21 | 24 | 28 | 28 | 25 10 39 299 | 159 4 M4x10 | 5.2 =
9 |16 | 14|23 |27 | 31|32 |28 10 44 227 | 128 4 Max12 | 5.2 I.Izl1
10 | 16 | 14 | 23 | 27 | 31 | 32 | 28 10 49 205 | 128 4 M4x12 | 52 %
11 |18 | 14 | 23 | 27 | 31 | 34 | 30 10 53 186 | 114 4 M4x12 | 52
12 |18 | 14 | 23 | 27 | 31 | 34 | 30 10 58 171 114 4 Mdx12 | 5.2
13 | 23 | OA | OA | OA | OA | OA | OA
14 |23 | 14|23 |27 |31]3 |3 10 68 146 89 4 M4x12 | 52
15 | 24 | 16 | 29 | 36 | 42 | 45 | 40 16 120 196 | 123 3 M4x18 17
16 | 24 | 16 | 29 | 36 | 42 | 45 | 40 16 128 184 | 123 3 M4x18 17
17 | 26 | OA | OA | OA | OA | OA | OA
18 | 26 | 18 | 31 | 38 | 44 | 47 | 42 21 191 194 | 134 4 M4x18 17
19 | 27 | 18 | 31 | 38 | 44 | 48 | 43 21 202 183 | 129 4 M4x18 17
20 | 28 | 18 | 31 | 38 | 44 | 49 | 44 21 213 174 | 124 4 M4x18 17
22 | 32 | 25 | 38 | 45 | 51 | 54 | 48 21 234 114 78 4 M4x18 17
24 | 34 | 25 | 38 | 45 | 51 | 56 | 50 21 255 105 74 4 M4x18 17
25 | 34 | 25 | 38 | 45 | 51 | 56 | 50 21 266 100 74 4 M4x18 17
28 | 39 | 25 | 38 | 45 | 51 | 61 | 95 27 373 112 81 5 M4x18 17
30 | 41 | 25 | 38 | 45 | 51 | 63 | 57 32 480 126 92 6 M4x18 17
32 | 43 | 30 | 43 | 50 | 56 | 65 | 59 32 511 98 73 6 M4x18 17
35 | 47 | 30 | 43 | 50 | 56 | 69 | 63 43 747 120 89 8 M4x18 17
38 | 50 | 30 | 43 | 50 | 56 | 72 | 66 43 811 110 84 8 M4x18 17
40 | 53 | 32 | 45 | 52 | 58 | 75 | 69 48 959 110 83 9 M4x18 17
42 | 55 | 32 | 45 | 52 | 58 | 77 | T 48 1007 105 80 9 M4x18 17
45 | 59 | 40 | 56 | 64 | 72 | 85 | 79 79 1781 130 99 8 M4x22 42
48 | 62 | 40 | 56 | 64 | 72 | 88 | 82 79 1900 122 94 8 M4x22 42
50 | 65 | 50 | 66 | 74 | 82 | 92 | 85 99 2473 117 90 10 M4ax22 42
55 | 71 | 50 | 66 | 74 | 82 | 98 | 91 99 2721 106 82 10 M4x22 42
60 | 77 | 50 | 66 | 74 | 82 | 104 | 97 99 2968 97 76 10 M4x22 42 g
65 | 84 | 50 | 66 | 74 | 82 | 111|104 99 3215 90 69 10 M4x22 42 :3;
70 | 90 | 60 | 80 | 91 [ 101 | 122 | 115 127 4430 89 69 8 M4x25 84 &
75 | 95 | 60 | 80 | 91 | 101 | 126 | 119 142 5338 93 74 9 M4x25 84 %
80 | 100 | 65 | 85 | 96 | 106 | 131 | 124 190 7595 108 86 12 M4x25 84 3
85 | 106 | 65 | 85 | 96 | 106 | 137 | 130 190 8069 101 81 12 M4x25 84 g
90 | 112 | 65 | 85 | 96 106 | 143 | 136 | 222 9968 112 90 14 M4x25 84 g
95 (120 | 65 | 85 | 96 | 106 | 153 | 144 | 222 10522 | 106 84 14 M4x25 84 g
100 | 125 | 65 | 89 | 102 | 114 | 162 | 163 | 273 13651 | 124 99 12 M4x30 | 145 g
110 | 140 | 70 | 94 | 107 | 119 [ 177 | 168 | 273 15016 | 105 82 12 M4x30 | 145 ;
120 | 155 | 90 | 114 | 127 [ 139 [ 195 | 185 | 364 21844 99 I 16 M4x30 | 145 §
130 | 165 | 90 | 114 | 127 | 139 | 205 | 195 364 23664 92 72 16 M4x30 | 145 -'S:
140 | 175 | 90 | 114 | 127 | 139 | 215 | 205 | 364 25485 85 68 16 M4x30 | 145 ?}
150 | 185 | 90 | 114 | 127 | 139 | 225 | 215 364 27305 80 64 16 M4x30 | 145 2
Bearings & Power Transmission Pty Ltd (Phone) 07 4636 0522 Email: sales&bpt.net.au (website) www.bpt.net.au

Every effort has been taken to ensure that the data listed in this Spec Sheet / Catalogue is correct.
Bearings & Power Transmissions P/L will not accept liability for any damage or loss caused as a result of the data in this catalogue.




